A ONE INSTITUTE — A SYNONYM TO SUCCESS, OFFICE — SCO 322, SECTOR 40 D, CHANDIGARH

Class: IX Test: SA-| Subject: MATHS Marks: 90 1?|m_e 3 Hrs.
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Time Allowed: 3 hours Maximum Marks; 90
o= 89T
1. T g9 srfaret #

T v O 1 31 9 ¥, AR awmeet on, w, wad e ¥ wiel v g mez-ar § 4 qve
g fo wele 1 of 1 8, mus-m § 6wy ¥ fad wore ¥ 2 o € mus-w 10 W
§ 1Y wels & 3 ofek & 7on wus-g § 11 W ¥ e w4 ot B

3. 3R W IR T w1d ooy T8 ¥

. hEpeIRY T AT A ¥

rJa

Iy

General Instructions:

—t

All questions are compulsory.

The question paper consists of 31 questionis divided into four sections A, B, C and
D Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Settion-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

There is no overall choige in this question paper.

Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each

1 N7z + Jsoo - i ) EE wife 1
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Simplify:x/;i + Jeoo - s

2 FEU p(x) = (x— 1)(x = 2)(x—3)(x — 4) % IFF T R

Give zeroes of the polynomial p{x)=(x — 1)(x — 2)(x — 2}{x —4).

3 g S ABC H, 4% AB 1 D o SIgr 9 8, 61 SfEwhior ZCBD 1 HH T S|

In the equilateral triangle ABC, if AB is extended to D, find the value of exterior angle ZCBD.

4 e =geis ¥ feaa = =1 &g fefag

Write any two points lying in the second quadrant.

"UZ-d [ SECTION-B

ST T 5 W 10 W U & 2 3k B

Question numbers 5 to 10 carry two marks each.

> % -
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TRV IVE

Simplify : Z ; jj_i— by rationalising the denominator.
6 TUHEEE ®INL 25 ~ (12 +4y+ 4)

Factorise : 25— (2 +4y + 4)
7 @ T oTHRT T PQIIRS, £MXQ=125° AU MYR =40° 1 /XMY Tl "I T I |
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infigure if PQ RS, £MXQ=125" and AMYR=40°find 2XMY.

8 few 7@ By A PR=QS ¥ sy B PQ=RS ¥ @y wiwg w1 AW s o 2
Ffyuror/ FRTER 51w 34 fag =9 F fg fem

P Q R S
[n given figure PR=QS, then show that PQ=RS, Name the mathematician whose
postulate/axiom is used for the same.

- L * * Cadl

P Q R 5

9 TF WEIEAE S @ ATEd A iy, ey T 9o T el § Ul § 10 em IR ¥ 2
o7 Rt 9T 100 om

Find the area of an isosceles triangle whose one side is 10 cm greater than each of its equal
sides and its perimeter is 100 cm.

10 iz fvm wqaler & frug gy s f 2
() wR2Tm YT —3%7
() 9 -4 AR wR —289
(i) W 34T
(v) 3w gE —2%2
In which quadrant will the point lie, if
(1) the ordinateis 2 and the abscissais —3 ?
(ii) thewabscissa is — 4 and the ordinate is =27

(i}  the ordinate is 3 and the abscissa is 4 ?
(itv)  the ordinate is 3 and the abscissais —27?

TEUE-H [/ SECTION-C

UYT W 11 T 20 ¥ UAF & 3 97F 2
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Question numbers 11 to 20 carry three marks each.

11 4 _ & ) el 3
e "t 110121) 72 K] HF FE HIT
(21a) 72 (256) 74
Find the value of 4_1/ - 6_1/ + dabrze) B
(216) 72 (256) 7a
12 TLE i ‘i{SlxsyCL 21.[:. : 2
Simplify : §j81x® y* -1°
13 3y~ 8y — )2 -5y —5FIy—3 F wF S e qAIFE T SRS J e | 3
Divide 3y% — 8y3—y2-~5y— 5 by y— 3 and find the quotient and the remainder.
4 - -
4 afe = -3—1,a@ap(x)=27x3—ax2_x+3wqaw%‘,?ﬁ a <1 T 31 ST | ¢
ifx= —;—J}» is a zero of a palynomial pix) = 27x3 —@x? — x+3, then find the value of .
15 T FATEEE BYS ABC ¥ AC=BC & a1 AD 31N BE sideis & g wifan fF AE=BD %1 3
AD and BE are the altitudes of afi isosceles triangle ABC with AC=BC. Prove that AE=BD.
16 fexr# AB|ICD, CD|EF sit@y=5. 4 31 7 3rf s8ifrg 3
I/
A — R
/.
C« i1 > 1D
Uj
E « C/ > F
In figure, if ABJICD, CD|[EF and x :y=5: 4, find 7.
17 & A J|m W pllq ¥1 x AWy F T W Fifew 3
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In the figure, find x and v if [|lm, pjlg.

18 fag =T i o < et wor shrede s ¥ 9 viifogs 5o s o ¥ 3

Prove that if two lines intersect, vertically opposite angles are egual.

19 Wfﬁﬂw‘{@?aﬁWZ:S:4%W§%HWWW900m%IW&W‘WW 3
I |

The sides of a triangular plot are in the ratio of 2 : 3 - 4 and its perimeter is 900 m. Find its
area.

20 2 g sl H, Drife s AR s i) (T AT e F ) 3

Find the area of the shaded region in the given figure. (All measurements are in coLj
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HUs-g [/ SECTION-D

U WA 21 31 H URE T 4 5F 5

Question numbers 21 to 31 carry four marks each.

21 . - s
AEa=7-4v3 8 @ Ja+ %—WWW FH

a
!fa=7w4\/§,ﬁnd the value of «fa—Jr i.

Ja

22 ﬁ=1.41423ﬁ?¢5=2.4495ﬁm%|ﬁquﬁwuﬁ{r@ﬁqwqmm
& 2 71
ERiE v

Given 2 = 14132 and J6 =2 4495 . Find the value of S S correct to three places
[«f{f (\/2_ - 1)

of decimal.

23 g IS TR e + )3 ~ (k- PP — 6y (E—y?) =8 B |
Prove that{x + v)> — (x— )2 — 6y X2~y =8y>.

24 ; 1 3 3
HEIRIEES WIAT oy S e R B
64 16 2
. . 1 . 3 3
Factorise : —2° = 837 + 3%y - L7
64 18 g
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25 <Y faamsm fafy g SEIE e 533+ 3x—1 ) 2x—1 9 iy A af s N §IvEe w4
Fifag |

By long division, find the quotient and remainder, when the polynomial 2x%—5x% 4 3x—1 is
divided by 2x -1,

26 TorTEE a‘TﬁGQ:ZyB-lly2+1’7y“6 4
factorise ; 2% - 112 + 17y—5
27 BT R 81 F, G W F O, ao am F et 5 e S e T TE W 4

W%@n@qﬁ@ﬁm?aﬁgaﬁaﬁﬁHﬁWWﬁmﬁaﬁ,ma{%ﬁmﬂé%?
T2 % 3 AR arfirrad SR

Mr. Kapoor is making a straight walkway in the garden joining the diagonally opposite points for the
purpose of morning walk of elderly people{as shown in the digure). What value he is exhibiting by
doing so ? Which axioms states unigueness of the line joining two points ? State any two postulates
of Euclids.

Garden

28 AABC & 45T BC %1 D 0% S5m0 Tl £ A % SRR BC 9 L 9¢ firerd s w2 4

ABC+£ ACD=2/ ALC,
The side BC of AABC is produced to I. If the bisector of A meets BC in L. Prove that .~/
ABC+ £ ACD=24 ALC.
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29 AABC &7 yST¥ BC, CA T% BA ®9%: fagsfi D, Q g P 7% =9 R gk TN £ 5 4
ZACD =100°, ZQAP =35° 1 TH9s % |l v 3 Fiome )

B e D
Sides BC, CA and BA of a triangle ABC are produced to D, Q, P, respectively as shown in the
figure. If ZACD=100° ZQAP=35° find all the angles of the triangle.

30 fog =it iR 21 Frys watmem 49 &, aft s By % 8 o @R s e e g Byw & 4
T HIO AR IR ST A F S0 2 |
Prove that two triangles are congruent if any two angles and the included side of one triangle
is equal to any two angles and the included side of the other triangle.

31 uft v fode W, < Tl %1 3@ wen wedb s e e e & gufpaees wwa g o fag 4
Fife f SET T g ¥
If a transversal intersects two lines such that the bisectors of a pair of corresponding angles
are parallel, then prove that the two lines are parallel.

Page 8 of 8

A - ONE INSTITUTE OF COMPETITIONS, PH - 9872662038, 9872642264






